TALEEMI DUNYA

Test Syllabus: Unit # 1 (Quadratic Equations)
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NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is correct, fill that circle
in front of that Question with Marker or Pen ink. Cutting or filling two or more circles will result in zero mark in that

question.8
ax* +bx+c =0 will be quadratic equation if: R L gbs a0 90 Sdlax® +bx+c=0 -1
b#0,c#0 (D) a+0 © c#0 (B b+#0 (A)
)
Solution set of equation 5x° —125=01is s a8 5x7 —125=0 lslas | -2
B
{5} (D) {5} (© fio} ¢ s} ()
Quadratic equations consist of...... of variable. = (S Jabia gy e S piatie Gl e (2 2 0 | 3
Square @« (D) Cube w25 © Co- yu e B) Degree ~ A)
efficient

Standard form of (x+7)x—3)=-7 is:

=SS me S(x+T7Nx—3)=-7 | 4

C+4x+19=0 | O) [ X+4x-14=0 |©O)] x*-4x+14=0 | B) | ¥ -4x-14=0| (A
The quadratic formula is: Vs b a2 | 5
—b+~b* +4ac b+b* —4ac +b+A/b* —4ac —b++b* —4ac
x= > (D) X=—m— (C) X= B)| = — | )
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Methods to solve quadratic are...... b ik S S da S Glls a2 .6
2 D) 3 © 4 (;3 6 (A)
In standard quadratic equation, number of terms is. - = dand (S s ) g Dl shisa (> 390 Gl | T
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2. Answer the following Question:

2x7=14) : S¢S cli g paida S ) g B3 g a2

Define second degree equation and give an
example.
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Solve the equation using quadratic formula.

(ii) 3 4

x—6 x—5:

S Ja o Dl SV a0 S [ (i)
3 4

x—6 x—5:

(iii) | Solve by factorization. 5x° = 30x

5x2 =30x -0 S da s ax N | (i)

(iv) | Solve by quadratic formula. 3x* +8x+2 =0

3x2+8x+2=0-w)5dacuaussﬂds‘5;ﬁﬁ (iv)

(v) | Solveit. vx+3=3x—-1

Vx+3=3x-1-msSda| O

(vi) | Solve by factorization. x* —11x =152

X7 —11lx=152-08 ds sond ma)y | (V)

2
(vii) | Solveit. | 2x— 1 = 9
2) 4

2 (vii)
(2x—lj = 2-uui da
2) 4
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Note: Attempt the question in detail.

(4+4= 8) - 5 g (i 1S Jl gus J3d g 0 109

Q:3 (a) Solve the equation by completing square.
7(x+2a) +3a* =5a(7x—23a)

S da e JaeSS an )y S Dl gl (N 3 el s
7(x+2a) +3a” =5a(7x—23a)

(b) Solve the equation :
\/x2+x+1—\/x2+x—1 =1

V2 +x+1 - +x-1 =l-wSda SOl (@)
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